Name

@

ORDER OF OPERATIONS .
OF:41
X
Example 1: %+<2%_%> Example2: (1.7+13.3)x54
_7.7 =15%x5.4
2 4
=81
=2
Solve each expression.
_A g (22) 1 9.3\, 1 _(41
1) 5x<2.5>+5 2) <7 7>+2 <42><2>
3) -123+(3x0.1)-114 4) 11+36x%x(2.7+0.9)
1o (3_3\, 72 4_(8. .4
> 6X<2 6>+6 6 23 <5+5>
7) (-1.2)+(-04)-12.6+18.2 8) 179+ (-23-16.7)
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Name

ORDER OF OPERATIONS .

Answer key OF:41
@ X
Example 1: %+<2%_%> Example2: (1.7+13.3)x54
_7.7 =15%x5.4
2 4
=81
=2
Solve each expression.
_A g (22) 1 9.3\, 1 _(41
1) 5x<2.5>+5 2) <7 7>+2 <42><2>
44 51
45 > 2
3) -123+(3x0.1)-114 4) 11+36x%x(2.7+0.9)
524 119
1o (3_3\, 72 4_(8. .4
> 6X<2 6>+6 6 23 <5+5>
3 2
118 5
7) (-1.2)+(-04)-126+18.2 8) 179+ (-23-16.7)
8.6 -1.1
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